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VZOROVÝ ARCH S BODOVÁNÍM

Úloha 13:

• 4 správně   => 2 b.

• 3 správně   => 1 b.

• 2 a méně    => 0 b.

Úloha 7:

• 4 správně   => 2 b.

• 3 správně   => 1 b.

• 2 a méně    => 0 b.

1 b.

1 b.

1 b.

1 b.

1 b.

1 b.

1 b.

1 b.

1 b.

1 b.

1 b.

spánek, (ale i) strava

chybí

sklenice

byly osvěžením 

23 bodů/strana

max. 3 b.

min. 0 b.

Úloha 12:

• slovo správně   => + 1 b.

• slovo špatně     => – 1 b.

Úloha 14:

• slovo správně   => + 1 b.

• slovo špatně     => – 1 b.

max. 3 b.

min. 0 b.

a

či

že

nadávka

podíl

předlouhý

1 b.

1 b.
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Úloha 15:

• vše 

správně 
=> 3 b.


• jinak              
=> 0 b.

nemastná

týdenní

nalákaly

soutěsky

extrémně


max. 4 b.

min. 0 b.

Úloha 16:

• slovo správně   => + 1 b.

• slovo špatně     => – 1 b.

1 b.

1 b.

Úloha 19:

• 4 správně   => 2 b.

• 3 správně   => 1 b.

• 2 a méně    => 0 b.

1 b.

1 b.

1 b.

1 b.

1 b.

1 b.

1 b.

1 b.

1 b.

Úloha 25:

• 4 správně   => 2 b.

• 3 správně   => 1 b.

• 2 a méně    => 0 b.

1 b.

1 b.

1 b.

1 b.

1 b.

provedeného

předloženou

27 bodů/strana


